

ب. ۳

۲۰

المسا خالسا

$$11 - 4\Delta = 8 = d$$

$$4\Delta + 8 = \boxed{73} \checkmark$$

عدد آخر کسته نم $81 \leftarrow$

$$81^2 + 1 = 4\Delta \leftarrow \checkmark$$

۲

$$\{1, 2, 3\} \{4, 5, \dots, 12\} \{13, \dots, 29\} \{30, \dots, 120\} \{121, \dots, 363\}$$

$$\frac{363 + 121}{2} = \boxed{242} \checkmark$$

۲

$a_0, a_4, a_8, a_{12} \rightarrow$ ضابطه اول

$a_1, a_5, a_9, a_{13} \rightarrow$ ضابطه دوم

$a_2, a_6, a_{10}, a_{14} \rightarrow$ ضابطه سوم

$$S_{14} = 1 + 5 + (1 + a) + 2 + (11a) + 5 + 10 + (2 + a) + 8 = 19 \Rightarrow a = -2 \checkmark$$

$$n = 3k + 2$$

$$a_n = \left[\frac{n}{k+1} \right] - 2 \rightarrow \frac{3k+2}{k+1} - 2 = \boxed{\frac{k-2}{k+1}} \checkmark$$

$$\boxed{-2 = \text{جواب}} \checkmark$$

$$\Rightarrow \text{if } k=0, 1 \Rightarrow -1$$

۲

$$\frac{1}{\Delta} \times (-1\epsilon) = -\frac{1}{\Delta} \checkmark$$

$$a_n = -\frac{n^2}{\Delta} + bn + c \quad a_\Delta = -\Delta + \Delta b + c = 1\epsilon \Rightarrow \Delta b + c = 19$$

$$a_V = -9\frac{\epsilon}{\Delta} + Vb + c = 17, 2 \Rightarrow Vb + c = 2V \Rightarrow 2b = 2V - 19 = 1$$

$$\begin{aligned} b &= \epsilon \\ c &= -1 \end{aligned} \checkmark$$

$$a_n = -\frac{n^2}{\Delta} + \epsilon n - 1$$

$$a_{1\Delta} = \frac{12\Delta}{\Delta} + 40 - 1 = 1\epsilon$$

$$a_1 = -\frac{1}{\Delta} + \epsilon - 1 = 2\frac{\epsilon}{\Delta}$$

$$\frac{1\epsilon}{2\frac{\epsilon}{\Delta}} = \boxed{\Delta} \checkmark$$

۲

$$a_V = -1\epsilon \quad a_V = -1\Delta$$

$$d(t) = \frac{\Delta}{\epsilon} d(t)$$

$$\frac{a_V - a_r}{\Delta} = \frac{a}{\Delta}$$

$$\frac{t_\Delta - t_\epsilon}{\epsilon} = \frac{a}{\epsilon}$$

$$d(t) = \frac{\epsilon}{\Delta} d(t)$$

$$\boxed{\Delta \times \frac{\epsilon}{\Delta} d(t) = \epsilon d(t)} \checkmark$$

۲

$$\left. \begin{aligned} y(0+d)^r &= \Delta a^r + 1 \cdot a^r + r a^r + r a^r \\ r a^r + r a^r + r a^r \end{aligned} \right\} = y d^r = r a^r + a d$$

$$y = \frac{r a^r + a d}{d^r} = \frac{r a^r}{d^r} + \frac{a}{d}$$

$$\frac{a \varepsilon}{d} = \frac{a + r d}{d} = \frac{a}{d} + r$$

$$\frac{a}{d} + r = t \Rightarrow r + t + t = y$$

$$r + t + t + y = 0$$

$$\frac{-1 \pm \sqrt{1 + \varepsilon \lambda}}{\varepsilon} = \begin{cases} \frac{y}{\varepsilon} \\ -r \end{cases} \quad (y)$$

$$\Rightarrow \frac{a \varepsilon}{d} = \begin{cases} \frac{a}{r} \\ 1 \end{cases} \quad \checkmark$$

$$b-d, b, b+d \quad b, \frac{b-d}{r}, \frac{b+d}{r}$$

$$\frac{b^r + b d}{r} = \frac{b^r - r d b + d^r}{r} \Rightarrow d^r - r b d = 0$$

$$d(d - r b) = 0 \Rightarrow d - r b = 0 \Rightarrow d = r b$$

$$b, \frac{b - r b}{r}, \frac{b + r b}{r} \Rightarrow b, -b, b$$

$$\Rightarrow a = -1 \quad (r a = -r) \quad \checkmark$$

(y)

$$\left. \begin{aligned} a, a q, a q^r \quad r a q, r a, a q^r \\ r a q + a q^r = \varepsilon a \Rightarrow r q + q^r = \varepsilon \end{aligned} \right\} \Rightarrow q^r + r q - \varepsilon = 0$$

$$\frac{a q^r}{a q^r} = q^r = -\varepsilon = \boxed{-\varepsilon} \quad \checkmark$$

$$\frac{-r \pm \sqrt{r + 14}}{r} < \begin{cases} 1 \\ -\varepsilon \end{cases} \quad \checkmark$$

(y)

$$\frac{a q^r}{a q^r} + \frac{a q}{a^r} = r \Rightarrow \frac{q^r}{a^r} + \frac{q}{a} = r \quad \frac{a^r}{a q} = \frac{a}{q} \quad \frac{q^r}{a^r} + \frac{q}{a} - r = 0 \Rightarrow \left(\frac{q}{a}\right)^r + \frac{q}{a} - r = 0$$

$$\frac{q}{a} = \frac{-1 \pm \sqrt{1 + \lambda}}{r} < \begin{cases} 1 \\ -r \end{cases} \Rightarrow \frac{a}{q} = \begin{cases} 1 \\ -\frac{1}{r} \end{cases} \quad \checkmark$$

(y)

$$a, a q, a q^r, a q^r, r v$$

$$r v = r^r \Rightarrow q^r = 11 \Rightarrow a = \frac{1}{r} \Rightarrow \frac{1}{r} - \frac{1}{r} = \boxed{\frac{1}{4}} \quad \checkmark$$

(y)